YOSHIMURA RACING OVAL SLIP-ON EIE]YOSHIMURA
SUZUKI LT-R450 (K8-K9/94dB) ——

PART NO. 150-180B5E51

Washer M8x26  Grommet Rubber
812-108-2600 553-565-0000

Grommet Spacer
850-208-1212

Washer M8x26

812-108-2600
Cap Bolt M8x30
800-208-5030

Oval Silencer Assy Stainless Sleeve
156-180B5E51

Washer M8x26

812-108-2600 Lot Number | Clamp-Band 43-47

Tailpipe 162-777-4347

Grommet Rubber 155-180-5E50
553-565-0000
Grommet Spacer
850-208-1212
Exhaust Spring
Cap Bolt M8x30 118-001-0000
800-208-5030




